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Question 1

Question Type: MultipleChoice

Which code will successfully create a BODILESS PACKAGE to standardize CONSTANTS and EXCEPTIONS declarations?

A.

CREATE OR REPLACE PACKAGE std_const_err_pkg IS
vtax CONSTANT NUMBER(3):=3;

e_seq EXCEPTION,;

PRAGMA EXCEPTION_INIT( -2277,e_seq);

e_fk EXCEPTION;

PRAGMA EXCEPTION_INIT( -2292,e_fk);

End;



CREATE OR REPLACE PACKAGE std_const_err_pkg IS
vtax CONSTANT NUMBER(3);

e_seq Exception;

PRAGMA EXCEPTION_INIT(e_seq,-2277);

e_fk EXCEPTION;

PRAGMA EXCEPTION_INIT(e_fk, -2292);

End;



CREATE OR REPLACE PACKAGE std_const_err_pkg IS
vtax CONSTANT NUMBER(3):=3;

e_seq Exception;

PRAGMA EXCEPTION_INIT(e_seq,-2277);

e_fk EXCEPTION;

PRAGMA EXCEPTION_INIT(e_fk, -2292);

End;



CREATE OR REPLACE PACKAGE std_const_err_pkg IS
vtax NUMBER(3) CONSTANT:=3;

e_seq Exception;

PRAGMA EXCEPTION_INIT{e_seq,-2277);

e_fk EXCEPTION;

PRAGMA EXCEPTION_INIT{e_fk, -2292);

End;

Options:

A- Option A
B- Option B
C- Option C
D- Option D

Answer:




Question 2

Question Type: MultipleChoice

Which three are true about DDL triggers? (Choose three.)

Options:

A- They cannot include the WHEN clause.

B- They must be created in an enabled state.

C- They can be fired when a table is truncated.

D- They fire only when a DDL statement is executed by the owner of the trigger.
E- They can be fired either before or after a DDL statement executes.

F- They can be fired when a privilege is granted to a user.

G- They must be created in a disabled state.

Answer:

C,DE



Question 3

Question Type: MultipleChoice

Which three statements are true about Implicit Cursor and Explicit Cursor? (Choose three.)

Options:

A- Implicit cursor returns only one record.

B- Explicit cursor can return more than one record.

C- %lsopen, %Rowtype, %Notfound, and %Found are the attributes of Explicit Cursor.
D- %lsopen, %Rowcount, %Notfound, and %Found are the attributes of Explicit Cursor.
E- %lsopen, %Type, %Notfound, and %Found are the attributes of Explicit Cursor.

F- %lsopen is always false in Explicit Cursor.

G- %lsopen is always false in Implicit Cursor.

Answer:

B,C,G



Question 4

Question Type: MultipleChoice

For which three SYSTEM EVENTS can triggers be created? (Choose three.)

Options:

A- DDL

B- AFTER AUDIT

C- BEFORE ANALYZE
D- SHUTDOWN

E- SERVERERROR

F- STARTUP

G- BEFORE GRANT

Answer:

D, EF

Question 5




Question Type: MultipleChoice

Sequence S and table PRODUCTS exist in your schema.

Examine the table description:

DESC products

Name Null? Type

PDT_ID NOT NULL NUMBER(3)
POT_NAME VARCHAR2(25)
PRICE NUMBER(8,2)

Now, examine this block of code:

1 CREATE OR REPLACE PROCEDURE report(UPPER(pdt_name_in)IN products.pdt_nameXTYPE) IS
current_price NUMBER := 155.55;

new_price NUMBER(1©6,2) := ROUND(current_price + (current_price * .05));
compare_value VARCHAR2(20);

BEGIN
compare_value := DECODE( new_price, 1001, ‘'Above 1008', 'Below 1060');
DBMS_OUTPUT.PUT_LINE(s.NEXTVAL || * " || UPPER( 'New Price')|| " ' || TO_CHAR(new_price));
DBMS_OUTPUT.PUT_LINE(s.CURRVAL+1 || " * || UPPER({'New Price')|| * ' || new_price);

END;
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Which two lines each result in a compilation error? (Choose two.)

Options:

A-line 1
B- line 6
C-line 8
D- line 2
E- line 3
F- line 7

Answer:

A, B

Question 6

Question Type: MultipleChoice

Examine the EMPLOYEES table structure:



EMP ID NUMBER (10)
FIRST NAME VARCHARZ (30)
LAST NAME VARCHARZ (30)
SALARY NUMBER (8, 2)

Now, examine this code:

1 DECLARE

2 first_name employees.first _namekTYPE;

3 v_name first_name%TYPE;

4 v _salary NUMBER(S) ;

5 v_empid employees.emp_ id%TYPE := 200;
6 BEGIN

7  SELECT salary,first_name

8 INTO v_salary,first _name

o FROM EMPLOYEES

10 WHERE emp_id = v_empid;
11 END;

Which statement is true about the result of executing this block?



Options:

A- It will execute successfully provided the salary of EMP_ID 200 does not exceed the value 99999.
B- It will return an error at line 2.
C- It will return an error at line 3.
D- It will return an error at line 8.

E- It will execute successfully by rounding up the salary of EMP_ID 200 to the appropriate value.

Answer:

A

Question 7

Question Type: MultipleChoice

Examine these statements:



Drop procedure calling proc;

CREATE OR REPLACE PROCEDURE protected proc
ACCESSIBLE BY (calling proc)
AS
BEGIN
DBMS _OUTPUT.put line('TEST1 : protected proc’);
END;

Which is true?

Options:

A- It will result in a compilation error for protected proc because calling_proc does not exist.
B- It will result in a compilation error for protected_proc because calling_proc must be prefixed with the schema name.
C- It will result in a successful compilation because objects referenced in an ACCESSIBLE BY clause are not checked at compile time.

D- With adequate privileges, PROTECTED_PROC procedure can be called by other programs apart from CALLING_PROC.

Answer:
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